/%rcen/ages : NO cALcutAaToR

) Ckange these 94 o frachans , f]"Wfij sour answer

in kY simplest form  after cancellinj.

Q) 117 b A% ) 2%
d4) 0% &) 50% [ 5%
| 9 4o% h) Y i) 35%

2), Cha.flge Fhese ,C‘rac/'fom fo % . Hemember yeoue neec/
to  have 100 on the botom line .

3 b 719 3
%) 73‘”0 ) 100 I

) L ) 4 0

20 10
3 h q
) 3 j I 9 &
¥ 2b k 2] L 350
) 2L ) & ) ¥

3) Copj ar\d compfefre Hf)e L‘able be[ow The Fr'rsf o

done For you

FRACTION 97

x5

&) ":.io - 7!555 ] 5%

by . S

<) 3 25

d) oo

&) 13%

/;) 607,

9) 27

h) 25%

0) | 36%



